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1) —4(3a—2b)—6(2a—b) 2) (5—4x+2y)+(2x—8y—9)
3) 8p ax(—3pa) X (—pg ) 4) —24x°y’ +6xy+2xy

5) gx - %y - %x + gy 6) aJ;Sb —a+b

7) 9a°—8a—8a +7a 8) —(3a—2b)+(6a—2b)

5,2 2 2,2 2 7 8 12
9) S —a)—3(a—-p) 10) (—gxy) X (—37xy)+(—zxy)
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1) 1.2x24+0. 8x+3. 3x°—1. 2x 2) (4a)’ x3ab-+2ab

3) (a+2b)X(—4)—(6a—9b)+(—3) 4) 2a°—5b°—3(a°—2b’)

1

2 1 7 . 2,
5) ( 3X + Y )—( X + oY ) 6) 24ab+(—2ab) +(—3ab)

7) (2a+8b—10)+(—2) 8) (—gxzy)x(—gxy)2

9) 3(x+2y)+9x—5y 10) 15(2a+b)—%(3a+2b)
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1) 7Y+ =28y x(—2xy)> 2) (Bx)°+(—12xy) X8y

3) (0.5p—0.2q)+(0. 3p+0.7a)  4) 8X°y +(—4xy)=2xy

5) —(8x°—9x)—(6X_+X) 6) (5x2—15xy)+<—§x)

a+2b +2a—b

7) 4(2x+y—2)—7x—3y+9 8)

3x—2y + 4x+5y

9) —9x2+7xy—8y2+4x2—6xy+3y2 10) 5 5
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3. 7 9 3 2 2
1) 15C zo—3xd )—20C joc—75d ) 2) —(x —4x+1D+(2x —5x—3)

2 2 2 2 2 2
3) 6x2x(—x2y)x(—3xy2) 4) Sa tb ¢ _ 2a b to

5) ( —%b )+ ( —gab Y ( —ga ) 6) (2x—3) X (—6x)

7) —7ab>x(—ab)’ x(—2a’b) 8) 2(12p2—6q2>+g<gq2—18p2)

9) —4(5a—6b—3)+8(a—2b—3) 10) (7x+5y)—2(4x+3y)
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1) 0.9(4a+3b)—1. 1(3a—b) 2) —(2a°—9a)+(—6a)

9 3.3

3) (—Zab)’x(—Zab)*+(—Ja’b")  4) —Ta—8b+9a—4b

5) §x2y2+( —gxy IX(=3xy).  6) 21x—18y—4(5x—3y)

7) 8(2p°+3p)—9(3p —4p) 8) —48xy+(—16x)+( —3y )

9) —16a’bx(—4ab’)+2a’b 10) —6b>x( ~2a )2
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1) ARE—m@E (2K X10%) A =]

1) —24a+14b 2) —2x—6y—4  3) —72p°q°  4) —2

7 1 —3a+7b 2
5) 72X + &Y 6) 2 7) a —a
2 2
8) 3a 9) @ 10) 6
2) KEE—MRE (2mXx10/) A =]
2 2 2 2
1) 4.5x —0.4x 2) 24a 3) —2a—11b 4) —a +b
5 1 2
5) EX - Ey 6) — E 7) —a—4b+5
3 4 3 —a—2b
8) — ﬁx y 9) 12x+y 10) 12
3) KIE—mRE (2R X10%E) A =]
1) —xy 2) —6x 3) 0.8p+0. 5q 4) —1
5) —14x°+8x 6) —7x+21y 7 x+y+1
7a—b 18x+11y

8) 9) —5x2+xy—5y2 10)

3 18
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4) KE—RE (2Rx10%#) A B

10a°+9b>—9c>

1) —360—d  2) X’—x—4 3) 18x°y’ 4 12FX

5) —6 6) —12x°+18x 7) —14a’b’

8) 2p°—q°  9) —12a+8b—12 10) —x—vy

5) £IE—MRE (25 X10/) A =]
1) 0.3a+3. 8b 2) %a - g 3) —ab 4) 2a—12b
5) — gxsy3 6) x—6y 7) —11p2+60p
8 2 2

8) —2 9) 32ab 10) — 32 b



